= AH O
N = 0 &8 AF S & Al A
20108 =& 2 3| LBFIH JIE2ZAFA ~ D2 2HAMA
S I 2 A
Hz: o3 X
el 23 X (cte- &
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
J|E2AA 3,924,885 3,099,842 825,043
< 19,058 4,281 14,777
= 3,905,827 3,095,561 810,266
o3 XI& 43,000 51,000 /8,000
o3 X 43,000 51,000 /8,000
O|FHIMoAG 2H 0 8,000 28,000
201 Lt AH| 0 3,000 23,000
01 AF222/H] 0 3,000 A3,000
ogg9s+¢ 0 3,000 23,000
O2JHHIAM2G A HAHxH 38 0& 0 3,000 23,000
207 S RINH| 0 5,000 A5,000
01 ¢gE 4| 0 5,000 25,000
Ol &Yl ME F0U|AZAL 38 0& 0 5,000 A5,000
zdXE XN23 327,861 332,516 N4,655
== 4,058 4,281 A223
= 323,803 328,235 A4 432
PSPSELESPN| 72,904 77,344 4,440
DHYA Mo 245 1,760 5,700 A3,940
301 Lt A2 60 2,850 A2,790
12 JIEIEA S 60 2,850 N2,790
ONZTAIMHCSE BAZ 60 2,850 AN2,790
Ozl 2E 02 0 1,000 A 1,000
o= A 0& 0 500 A500
odd 33 0& 0 600 2600
OZEIIX J1EE3FL 38 60,000& 60 750 690
303 ZAZ 1,700 2,850 A1,150
01 Z&2 1,700 2,850 A1,150
OEZTAIH B2 LA 1,700 2,850 A1, 150
Ozl ZA 500,0002 500 1,000 A500
OFEIA 21832 d3& 100,000& 100 750 AB50
DU AAG 2H 10,020 10,520 A500
203 HR=XH| 1,900 2,400 A500
03 AMEFAHRFZXY| 1,900 2,400 A500
OZLHFLR AIMH Z & 1,900,000& 1,900 2,400 AB00
K EAH 56,126 56,341 A215
< 4,058 4,281 N223
= 52,068 52,060 8
HEALEI AL 4,058 4,281 N223
< 4,058 4,281 N223




R HPIEETIN
M 2HTF KL

ool NASH (ehel: =&
A -3 -H2A(SH) - HEAMY - BES (il & OH J|E Hos

101 14| 209 220 A1

& 209 220 A1

04 JIZtHIZ22 a2+ 209 220 A1

OZ EALE T At 209 220 A1

o2y & HWEe 3E 204,000 204 214 A10

& 204 214 A10

OBEx Z2& 5,000& 5 6 A1

L= 5 6 A

201 LetIH| 3,849 4,061 A212

= 3,849 4,061 AR12

01 AtE222|H] 3,849 4,061 A212

O t=ZH| 3,849 4,061 A212

OXZMRE =Y a8 3,629,000& 3,629 3,797 A 168

= 3,629 3,797 AN 168

OXZAE S 23 94,000 94 66 28

= 94 66 28

OMBREES Z2 & 126,000& 126 198 ANT2

& 126 198 ANT2

QIR FEHE XAt 5,628 5,580 48

101 Q1 H| 2,668 2,620 48

04 JI2ZtHIZ22NHSES 2,668 2,620 48

OYgREXLRE a8 2,608,000 2,608 2,561 47

OZAME BEZ 60 59 1

OuTHEEs & Ig288s ZE 60,000& 60 59 1

SHHESIAM 3,254 3,294 A40

101 elH| 834 874 A40

04 JIZtHIZ22HEsE+ 834 874 A40

OYREXRE Z2& 815,000& 815 854 A39

(©)=k=:K=2 19 20 AT

O« HEes ¥ Dg8ds &ZE 19,000& 19 20 A1

NEME2H 198,654 184,654 14,000

= 15,000 0 15,000

= 183,654 184,654 A 1,000

HEEQ NLHE=2F 198,654 184,654 14,000

= 15,000 0 15,000

= 183,654 184,654 A 1,000

ooty 2 28 97,540 98,540 21,000

203 HRF&H| 2,000 3,000 A 1,000

03 AEFIHRFAY| 2,000 3,000 A 1,000

OME2E L JE=MA 58S
Z2& 2,000,000& 2,000 3,000 21,000
ZIEH CIHEIEAY 15,000 0 15,000




R HPIEEI
o NSAHEESY
ool HEXO NYHESY (25 &2

SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ
s 15,000 0 15,000
303 Zal= 15,000 0 15,000
< 15,000 0 15,000
01 Z&=3 15,000 0 15,000
oxXJ|gd QdEE 15,000 0 15,000
< 15,000 0 15,000
ol B1dl 3,278,062 2,454,364 823,698
ol Bldl 3,278,062 2,454,364 823,698
ol gyl 3,278,062 2,454,364 823,698
801 Oldlbl 3,278,062 2,454,364 823,698
01 obldl 3,278,062 2,454,364 823,698

oolgldl 2 & 3,278,062,000& 3,278,062 2,454,364 823,698




